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Loegdgom 3MGLOID, 39MHdm, wgdsos 13-0 dmerm 3MbJ@do dmyzs60wo L535MX0TMd0.
39999990905 08 3H03MM0 L35 X0dMgdoL BMIMYd0, GMIgEwms s3mblbgdo 4oImEgdmewos of.
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4. 258mmzawgo f(x) = x7 gmbd3ool 3®553030L b x = 2 FgOGH0owdo.
50mblbos

m=f'Q2); f'(xX)=&") =7x""1=7x;m=f'(2) =7-25=7-64 = 448.
3sbo

3BJ30oL 2M9x53030L IbGs x = 2 F9dG0wdo sGols 448.

5-5. goo§o®dmgm y = x8 gmbdgos.
53mblbo

y = (x8) =8x%1=8x".
3sbmbo

y =8x".

6-9. a55fo@Amgm f(x) = % 816305 s 3oLvybo BsfgMgm H5E035¢gdol godmygbgdoom.
53mblbs

p_ (A _(o-1/a) _ 1 141 _ 1 _5/a _ 1
v =(g) = (V) = = = = e
3sLvgbo

' 1

Y =T



7-5. 030390 08 9O &0l 30mOHEobsG9d0, Gmdgewdog y = x° FoMb gosBbos 405-0 Gmeo
3M500096¢)0.

50mblbos

m =405 = f'(c); f'(x) = (x°) =5x°>"1 =5x*;5-c* =405; ¢*=81; c = 43;

f(&3) = (£3)° = £243;  (c; f(c)) = (£3;£243).

3sbbo

L5309d9gwo FodEHowos (+3; £243).

8-9, 0. 355foMBmgm BMbJzogdo: d) Yy = % ; o) y=ax*+bx+c.
500blbs
8)y = (1) = (x) =4 =4 (-1) x = —dxt= -

x2’
0)y =(ax?+bx+c) =(@ax?) + (bx) +(c) =a(x?) +b(x) +0=a-2x*"1+b-1x'"1 = 2ax + b.
3sbmbo

’ 4 '
o)y =—x—2;o)y = 2ax + b.

10-3. 80560 58mbsggdol Bbdgoobsmgol TR = 50Q — 3Q% 03mzggm dfiTQR) ‘
50mblbo

%QR) = (TR), = (SOQ - 302 )’ = (SOQ)' — (3Q2)’ =50-—3- 2Q2—1 =50 - 60.
3sbvybo

200 = 50 - 60.

a

11-5, 3. ®0o g16J300L 35FsMINGdOL Fabolb gsdmygbgdoo 03mgzgm ﬁ §o63mgdmwo s
20585630390 Bogdmo 3sbmbo: sy =u?+1; u=3x—-2; ) y=+Vu; u=x*+2x-3.
500blsbs
Z=@+1) =@ + (1) =2u+0=2u; T =0Bx—2)=Gx) - (2) =3(x) -0=3;
3.0.%=%-Z—Z= 2u-3=6(3x—2).

ay _ (12 112 1 du_ . o AV — (2 2V ' r_ .
2) du—(\/ﬂ) = (ul/?) =-u =57 =@ +2x=3) = (") +(20)' - (3) =2x + 2;

2x+2 _ x+1

v _dy du_ 1| =
IO % T au ax  va Qx+2)= 2xZ+2x-3  xZ+2x-3
3sbmybo
dy dy x+1
9) —=6(3x — 2); - = .
) dx ( ) 6) dx Vx2+2x-3

12-5, 3, 9. 0o B9bJ300L FoFoGdmgdol Fabol 35dmygbgdoo 03mzgom Fomdmgdwgdo:
y=Qx+D"; y=——; 9)y=V7x—3.

53mblsbs

Ny =(Cx+ D) =11C2x+ D - 2x + 1) = 11(2x + 1)1 -2 = 22(2x + 1)*;

D = () = (Br =5 = ~1: Br 52 (Br—5) = ~1 (Bx 52 8=

8x—5
0y = 7x=3) = ((7x = 3)4?) = ~(7x—=3)V2 (7x —3) =2 (7x —3)7V/2 7 =
3sbmbo

, , _8 ,
0y =22Qx+ 1))y = G5t Dy =

7
2V7x=3"

7
24/7x-3 "

2




13-5, @. 659630l 35FsdmgdOL Fgbol gedmygbgdom 03m3z90: Fo®dmgdwyegdo:
Ny=x2(x+3)°; y=x-Vx+1.

500abLbs

Y =2 +3)%) =3 - (x+3)5+x2-((x+3)°) =2x-(x +3)° +x2-5(x + 3)* (x + 3);
y' = 2x(x +3)% + 5x%(x + 3)* = (x + 3)*(2x? + 6x + 5x2) = (x + 3)*(7x? + 6x).

14 12 1
Y =(x*Vx+1) =M Vx+1+xt-(Vx+1) =4x3-\/x+1+x4-((x+1)5)
1 1
y’=4x3-\/x+1+x4-%(x+1)_5-(x+1)’=4x3-\/x+1+x4-%(x+1)_5-1;

. 3, x* x3(8x+8+x) _ x3(9x+8)
y' =4x°-Jx+1+ 3 = =

!
)

Va1 2v/x+1 2vVx+1
3sbbo
= 4(7x2 : ;o X20x48)
Ny =(x+3)*(Tx*+6x); @y = sl

14 -5, . ffowsol 35fsGdmgdol glol 35dmygbgdom 03mzgm Fomdmgdrwgdo:

2

x sinx

Ny =—; = .
)y X+4 @) y 1+cosx
50mblibs
0y = (xz )' _ (xz)’-(x+4)—x2-(x+4)l _ 2x(x+4)-x%1 _ 2x?+8x—x2 _ x%+8x
Yy =Ga) T (x+4)2 T #2442 (x+4)2
) o ( sinx )' _ (sinx)'-(14+cosx)—sinx-(1+cosx)’ _ cosx-(1+cosx)—sinx-(=sinx)
Yy = 1+cosx) (1+cosx)? - (1+cosx)? !
, _ cosx+cos®x+sin®x _ 1+cosx 1
- (1+cosx)? T (1+cosx)2  1+cosx’
3sbmbo
2
;o X°4+8x r_ 1
) T (x+a)2’ Q) y = 1+cosx

15-5. 89500306900 08 FOROL g5bEM@qds, Gmdgwog y = —x* — 5x% 4+ 3x — 1 gbgsosl gbgds (—1; —8)
PodGowdo.

50mblbos

(—1; —8) F90EH0wBY 393wgdwo bgdo FOHROL obGHMEwgdss ¥y + 8 = m(x + 1), Losg m = y'(—1).

y' = (—x* = 5x% + 3x — 1)’ = =3x2 — 10x + 3;83qbodsdobow, y'(—1) = =3 - (=1)2 —10- (—1) + 3 = 10; g.0.
y+8=10(x+1); y =10x + 2.

3sbo

dbgd0 FOROL 2obGHMwgdss y = 10x + 2.

17. Jo®bsbs8o ool 33eob 9539dEvIMMdOL Fgbfagers 80wmomgdl: ;e 898s +8smdsls s0fiygdl ool
8:00 LosmBy, 85806 t Lssmols 989y 0 ss8BsEIBL Q(t) = —t> + 8t? + 15t GHomgbmdol 3HMEIAL.

5) 999MmmM35ego 39Jol IOMIOL Boymgzog®gds R(t) = Q'(t) .

0) 5 046905 3980l IOHMIoL boymzogMgdol (33¢00wgdolL 9d3o ool 9 Losmobmgzgol?

53mblbo

S R(t) = Q'(t) = (—t3 +8t? + 15¢t)' = —3t? + 16t + 15;

0) 0506 3/8s mTomdob 0fiygdl 8:00 Lo By, sdoEHMd ool 9 Lssmobomgol t = 1.

R'(t) = (=3t% + 16t + 15)' = —6t + 16; dgLsdsdobo, R (1) = —6-1 + 16 = 10.

3sbmbo

5) R(t) = —3t2 + 16t + 15; d) 3H™Iol Bsym53096980L 33e0@wgdol ¢9830 0BOEYds 10 9HMgMEoo.



19. 36HmabmHoM©gds, GM3 x M30L 998097 3M339w0 Joeogdol dmbobwgmdOL MomEgbmds 0gbgds
P(x) = 2x + 4x3/2 + 5000 .

3) 5 3gd3om d9033wgds IMLabegMds 9 mzoL d9day?

0) 5000960 0g6gds BmLobagmdol 3GMEgb@vwo 33wowgdol 3gd3do 9 mzol d50wgy?

58mblsbs

3 ! 1
a)P’(x)=(2x+4x5+5000) =2+6x2; P'(9)=2+6-9 = 20;

PO 00— 20 100-2% 100~ 0390
) P@©) 100 2:9+4+/93+5 000 0=; 100~0,39%.
3smbo

) 350BMEYds 20 gHMgYoo.
0) 30mEgbGHMo 33wowgdol $§gd3dos 0,39% .



